— L

4

-
I !

.I-\'Cl
0

) i R J_/'..-'I >
il:. i e Sur e o ADBC L, -"'.- = \
|

WY el

A

() PE+ Yoo (&)

. R .
"M 997hs 2947 @) 5936333k

] )
' ! wanl = [ Counl
%, / . o e
Y she (an &o This uJ:Tha-_-.T u_Jﬂj

r}"| = ;E.‘ |Jﬂ|§
L

ipratran
[ ﬂ'f-{ e

I ! Wit (eng i — i
1 r f ; ..l e .:. °
' ——
= = o LT - L
- vl P L.I-" | \E | [T L Y 3 ]
] 2 i « | = , |
{ b 1 e JEL Sk I.l lime f'.ll';',_ e _L:’;r?_ el .
; = f 7 i

I S












! Thousand







{ i ; -
Sio Cram a KA DS
L o I - i {;‘E

s & | | = — I -
lhe Yesull 1s oo F:‘f’_f.-"r e Ol ber— E

L - T S
4 L Pl L




Fagl | -I'- :II ¥

i ¥ Lorn r_;:'_.. | |} -II- ¥ r_‘lllr
B2 12389 3343 S163Y  95gas

2§ i VAN o o e TEJJL_-.:'_? wEE 9 , c‘.".sL H

i M5/ T = R oS 3

'J_-ri:}‘?' g ;.".T.-'."e"lhli"-‘lll - MJ >

A28 —- i L‘I A ’ ¥ B

u s lhe Aitferente 9543




f--'f'l 1':||: Tl A T

[ I-'r||.- L I
: I - =R '||['|.<' Ig i
g f - & - 1] N
e |'I ar 116 s oF Carle o AT
I 5 i [ & = y, =)
! [ = L o f f

= The lenain

(LS e VL)“ & -'.f:.- Fil &G SUFE ,
¢ £ - P ip T # 3
s T Fawe enéq SUF g 8 fef L s ._l..._,"r_l.
\ |_.-'.I '_f'. =
: z f AN
i I|. e 1 .-: ‘l__r 'L-l' L .'I T} .‘l'.: L g
. f 2 :
o RS —=— - Ny I_".-:':-I ﬂ.'?.f-'lll — .l!.':-'l_rn:" T4
o 1 /
Farim { Nl
Yo

s Gt e T
AR S S ] _r'f:'_,r_ rilllfll{?lllf. __‘_j. _ﬂ_!kj_

7. LS UrE :rl'!':_r.'l .,Ir‘;'_l..: o 3;'." .'-‘.‘.;‘ l—'l.!..'."" i
7Y T
|

. . . e
a_mtfaSiee ,:’_‘,_.““b..] f‘-'#’}i’ﬁf )

A 0% I’Ja{féf L,u_’r

'
h

'.-H_;;HJ'. | ; ':{"fll'- £ 11 f_lr R B 4
£ 7% ek {' I'I,rru e g |'Ilr‘ ,-._;. L-‘a-lLLtl.tS-{

"

ight




el
|

f1= a'r j S
LCeg., .i'l. 'U.’c,
5 abluSe

'._-|I-;— 5 | L)
o
measire (5a .l_*.‘lu-d--'

1T Cet

£l r".'::r.l'r;‘ 10 {&
Feres of Culse ¢ 8 _
¢ it 1 le Pl : w1 (I,d I”Tf‘
+ L {fer
= o
mﬁﬂ Qg ®

e
i

o ep——

less

o
3 b g ey IO
Al lhe Meabure o
I
! -If"’ L&
i




T ¥
TETLEL
> i
[
|
o B
Sl

i .-:'.'_'r___'-.l:.': e

7 I_ faf I- ”—'. _-"'|II i

i

BN -I\"I i

=¥

Fa] =) : L r ’__-'II Ll I)-I-"‘ E/fj

ot =




1} Choose the Correct answer:

Ff T 1 e

Tlie place volume of 7 in the number
(hundred or thousands or tens)

». The greatest number formed from 4 different digiis
(9765 or 9999 or 93876)

3-Six thousands and forty — five is w FIHEN AS oo icaninia
(4500 or 6045 or 5430)

4- The Smallest number formed from the digits 5,7

578 . 2873)

I
[ ¥

-y =
| L

Pa W

5. 8 + 60 + 4060 + 2000 = oo ddD B rans

(RO42 or —Gi21—er—42685

' 6-5+5+5+5= .5 e (555, Sx4, 54

dugs £...=42 (8 57 y 8

. Aman distributed 45 pounds equally among 3 pupils How

many pens does each of them ta ke? Wt =

'| |
(3 pound ,6 pounds , 9 pounds)

[ o

———————— o —————————

001, 8700 6700, 3 Fa0 ame pattern)
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of the circled digit d { 1) 62 i5se=ers - P

3 The v : |
— M- [ T Oy 5 L

d- 6543 = scrrantrer
5. Eight thousand and one hundreds is written in digits

ay ....8 | 00
6- 5 thousands = ':'“3‘ hundred,

7. The value of 7 In the numbers712 ' = _'Z__.:._:_,_
8- 5461 = A s te

(3) Arrange the following numbers in an ascending order:

_in an ascending order:
6524 , 5424 , 7624 and 1624

(Lol 5424, ,.452Y, F82H4

) Ahmed bought seven books, the price of each book is 9

pounds, find the prige uf@d ¢ hooks. 7 X9-= &3 Eu u n,&s

{5} Put= , =0r=

Za 2
e #xs5 < Xx]
'.-I L|,
= U8 = 1xd
3 1x9 9x7
& 3
* 24+8
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sha following questions in the same paper
hswrar the I

. ..t choose the correct answer;
*.“__ ;

syalue of the digit2in3 2 67 1s units  tens , hundreds |

The !_;'.l.'

i wwand, three hundred and sixty four is
FiFty thot

(50 364 , 50 346 , 50634)

allest different 4- digit number is « (1234 , 1032 ,1023)

YR | & Ii-'.' "|-i."l| [:--|.'|

13455+100 = (23456, 23465 , 23555)
fdigit "3 1 imber 53710 is ------1 300000 , 30000 . 3000}

|
i
The number of edges of a cube is {6, 1¥:8) i

he solid which has one circular base is (cubi, cone, rectangular)

e measure of the right angle s -~ (90 , less than 90 , more than 80 ")
fax 100 (0 w8 (792 979 472y

000 +2500) - (7500-2500] (<, > ., =

9521 +2341) +1752 =752+ (2341 4 1752) (1952, 9521,1925)

'he pattern in which the number |§,.4.-1c;-::':.=5 much as hefore
(246, i [ 248, 1,38 000

)00 +1000 === 2000 + 3000 (=, >, =

li hought a computer for L.E. 5450 and a iq':'_ati:r for L.E. 750 lo.c&
=t I:Jhr_'l § 'C\n

3l price we use the operation:- = {Summatian, subtracting,
1 _-___._—
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ARSWES thi: following guestions :
Q1 : Choose the correct answer in bracke?s:-
1) The cone has .. L. vertex. (0.1.2) \ 1
2) The greatest 5- digit number is ( 98763 , 10000 . 'Eﬂi‘?_} ;
3) The angle whese measure is 50 is an .. —angle |
{ ocuiz , obfuis right ) %
4) 5 thousand, 4 hundred, ten , and 2 units =
( 5421 , 5412 , 54210) |
70 , 3700 . 37 ) ‘

5) 37 hundreds = . { 370 . 0
: =.
'\_- - I

( ACB . Aﬂc CAB )

&) ) The name of the opposite angle 15

7) The smaollest number formed from the digits 3 . 4, 5, 0,8is
( 58430 , 34580 ', Eﬂﬁﬂ )

r vertices and has fwo bases as
cylinder , cube )

. 5000 + 80 » 8 = ... ( 85000, 5888 , 5808 )

0) The only solid in the following figures is
( rectargle , square , cube )
| 9 +0+3= i ( 18 , 1083 3096 )

in the number 5067 is —oS
( 100 ., 1000 ., O )

f the digit 0




6)

d) T

1)2345+ 6591 = 6591 « 234G

2) The rumber of the edges of the cubeids je . e 1P

3) The value of the digit 2 in the number 28971 is . 2006 o

4) 247,257, 267, 271 727 (in the same pattern )
Lui]

5) The measure of the Straight angle = -.J_gﬂ_.

a1

C 2 e
s 'HL-'_‘:-.J

5.4 * 500 +» 30 + 2

HIT number i= - Llﬂ.ﬂ-‘p

¢ M2asure is SO iz called _.f’y}LT

1he argle whoe

2342 = 6833 7
2342 I I
14) &8 T | GRSVt e = 5 |I\ I
i |
o f ber G841 i
the digit & in the num -
15} The ploce value of { 1lF~c1.|..|h —5 I‘-Lndmd:" - 1 |I‘
" Temy ﬂ |
50000 , 5cop |
5 BN 1 B EESIEST { bl . Ba 1 . l
lu.:' 53&d | |
f wa pumber of faces ef the cube s _..._. & % . T2 \ || |
17) The pumBE ||
| i :r:-_'.' 9599 s il i: 100 . !':L{J ; | |
18) The number Just @ ; !-EEEI ll
- e # Pt " en— r} "‘lT‘

s iaban 3122590 i3 formed from - e Ib
| B The rumbar Iecd { P 5 J =|-
)

ive lundred and nine = _ I\

| On= thousand , five bundre -
20) { 1550 , 1509 ., 183 ) { .i!
Q2 : Cemplete each of the following: \
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, Q._.-' A) Braw AB of J-*nlJ h B em Inside |

H Tl _u_rl..l...'lﬁ..':'_n'-'_'l' K ¥

[ \ —— i}

-

detergent for 4725 plasters , what is the total did she pay %
Samie pald = 52 6H 4. HE2 5% - 118D piaslers \

| B) Samia boughi dift e
|

| Q4 A) Arrange the fallowing nu jmbers in an asce

1ding order
' 5449 6204 |, £ ., 3028 . 3009 ‘

= o977 Ra0 228 5449 4201
' The aS-:ur:-:l!-"J’ arder L1, a0 IJ -"'L'}'- 217, e

(1)

6534 B) +'31239
" 5243 8557

129} 39136

»V P3padd 32
2016 - 3m=.4.;.~n L el ASEYY Sidech ja
s




e [ : = .
les ™ Q) I
1 e - =
- — = hi COTTECE ANSWET ;- il
.I'Fir-.‘.‘f!---rrll'l-"" - Aﬁa-ll-u‘xl ;

{ :
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LG o
i Y ) 5 |
. (&
;r |'Z.||'r'|'u--_ii E4B= L]_X (EH}
]

= a
; e '511
#.|

i |?|.Lr:"- A

!1' \
£

Gt
2 faxd ]
§ jayad - 18) ke (3% 7) -
| or L
) . '
| [si( 4567 + 2135 ) .= [ 2135 + 4567 | i
| . or e
oos ¥ . h
| (6] {3527 —2500 ) ....v.{ 5537 —3500) o
| ar .
%
7] The smallest number form the digits 1 8, 0, 5 and & i 5 &
o e W o
| (6058 & 50¢g
i 1
[8] Twenty four thowsands . seven hund
[ s . ancs . seven hundreds and one is wrigt Li
enas 25 :‘YU,L
H [T
{
-';r'--

| 54 s
(2 (6x100)+[(BExa) = éll’ I-F'II

. (564 or 654 grep
(100 A farmer WaRES 1o distril I | 4
RE istribute 81 Kg of sran f
“NEes In 9 baxes , the EK
+ the number of Kgs
nsach bay = gl —Iql = "-}I ‘
: : (7 or &
Ili]ﬁf{lthnr Want |

stod

fha

Etributa 2y
t2 24 bars of chocolate amang his 4
hamy i take rani;
bl 2L

irad

| addition ar miul

(67+40 o 76+



B = 054l ¢ | FEO0 4

S} The triang, i ra

i1 & trangular pyramid its base na the hape of { Triangte e o T

i (1B} The @rgls L
e 1% Ingle [ acutE or right o Lalild

i

(L7] The verticos aF - ¥ -
} / L lcns of o cubg veritias [ B ar o i 1i
) —
L
| The number of the vertices of the cuboid = the number af the vertces of the
| { cube or cylind& orf pyromid

(1 ol i b 1 i

(1 aase of the evlinder i [ triangle ar square ar cireln |

{20} The measure of the right aryel the measure of the obiuss [> or = ar = |

d Secondly Lomplot

'Jh-?!_z-. ; 'ji’:’:t? ' S 98530

(Z1) Campletein the same patier d.
(22) 5932 + 49276 = 5831 + HAZ ¥ s

545 for the result 1o be 3245 Is e LGS,

23) The mi that if added to 3
— a24h
AT A L 1 2 = R e e 5
(23] The soild wh 5 e (. |_.l':.b.f_."

7

1gle whose measure 150° Is .. (’:..j';’i-u S‘ <

L

{27) The type of the a

(28) The measure of the right angle = ...pt8 .
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) The nearest number Tz Hooea is

| T ¢
= = il L 5 - 2o 4
"-E i 81 e
. W) ! Lo Ve O 'I o i"r"i;f'
@) The measd Faifiuse ar is less Than 129  angd nlore IPgN
i fess

= ey 2 I | | =
(le) (nyly Seden ,'C'.'-_-,._1_-::|,-i.1'.-, ;1;,-,_4"' erhly_bive e
i o

A oo s
i {f{f-.'lilss_ﬁﬁﬁ

|| \ J 5 :
|.._ e W FlsL e o

which of The £ H::-.-_'-.-L-, r‘.uml:fr’& lieg, Jr'|-|:jl"lt wadrfdf _
T L 3 [ —— |f£?|l_3?Ig_!'lglr

'l.-'_ 1 7 /.
S hoio 2o 3:_. ”u..,
I
o s \ =i o
; 654 (5l £s
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